Math 051 Solving Trig Equations Mr. Mumaugh

Solve each equation over the interval: 0 <x <2x or in the situation involving inverse functions, the
solution must be within the proper range. Write your answers in ascending order. Draw a “circle
solution”. No calculators.

.2 . 2 . 2
a) 2sin x—1=-sinx b) 2cos x=sinx—1 c) cot x=cotx
.2 . . .
d) cotxtan2x =23 e) 2sin” x—~/3sinx=0 f) 2sinxcosx =sinx
.2 . .
g) cosx—2sin x+2=0 h) sinxcosx+cosx—1—sinx=0
. . 2 2 .2
i) J3tanx=-1 ) 2C0S X=COSX k) cos x—sin x=1
. 2 .
D cos2x =sinx m) csc x+2cscx=0 n) —+/ 3sinx—cosx=1
0) sin2x+cos2x—1=0 p) sinx+cosx=1 q) 25in(x—%)=«/§sinx
r) 2cos2x+sin2xsecx =0 s) sin2x+cosx+2sinx=—-1 1) sin(n—2x)=cosx
. -1 -1 . -1 2
u) tan(n’+sm %):x V) cos (@)z%—sm 3x  w) tan” 3x=1
sinzx
X) cos2x+sinx—1=0 y) J3tanx=2 2) cotxtan2x =3
COSX

A list of answers follows on the next page --- unfortunately those answers are in the wrong order. |
suggest you check off each set of answers as you find them to verify you have the proper solutions.
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